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37.5mn | 3 471.60 471.60 0.00 | 0.0% 0.0% | 100.0%
26.5mn | 4 469 .50 46950 0.00 | 0.0% 0.0% | 100.0%
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10:02 2 0.0170] 0.0170 136.5 68.2 8.2613 0.0040 0.0327 25 0.0020f 0.0190 26.2% 7.5%
10:05 5 0.0155] 0.0155 139.4 27.9 5.2801 0.0040 0.0209 25 0.0020f 0.0175 24 . 2% 6.9%
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11:00 60 0.0105] 0.0105 149 .1 2.5 1.5762 0.0040 0.0062 25 0.0020f 0.0125 17 .3% 5.0%
14:00 240 0.0090] 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.2% 4.5%
10:00 1440 0.0080] 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 13.8% 4.1%
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0.25mm(NO.60) 3 380.0 393.1 13.10 11.4% 54 .3% 45 . 7% 31.4%
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CBRA & =

o AlFHE ES o Alg A=} 2016.3.5
o Ay KS F 2320:2000 o 7]&AA} - HeHd HEE
o AdEE T(HESL) oA 8 A A=Y

Z5 NAEE] (oAl (e AN wwA] Botr [2Ea a0l |sred | 540
A lzews| ™ A @ | @ | @ | @a) | @ | @ea | @
T (g)
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T B J‘%(m‘fn)" 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkg 2 0 29.0 54.0 78.0 99.0] 120.0| 139.0| 176.0 211.0| 286.0 354.0
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g3 |FrEEEL 1.5 2.8 4.0 5.0 6.1 7.1 9.0 10.8 14.6 18.0
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=] == ]_]:
?Mﬁ/ﬁ;; 0 0.145| 0.270| 0.300| 0.494] 0.509] 0.694] o0.879| 1.054| 1.428] 1.768
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=] == ]_
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17 3 (2.5m) gg <100 = 8.7% 5. Omm 11013 <100 = 10.2%
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92 3 (2.5m) é'g <100 = 17.2% 5. Omm 120'13 <100 = 20.1%
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